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m| bk T = 8,181,820 X 8,231,200 49,380 H4%E
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1 |ERE G LE 1 ==K 370,044 1 &K 370,044 0
2 |[BEMmETE 1 = 893,933 1 =& 893,933 0
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2 |[BEMmETE 1 = 13,498,152 1 =& 13,498,152 0
3 |NEEMETE 1= 888,068 1 = 900,878 12,810 H4%H
4 |[BEXETHE 1 = 421,445 1 =& 421,445 0
5 |Fofh THE 1= 1,468,678 1 = 1,468,678 0
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1) |TBATE R EE 1 =® 810, 496 1 =® 810, 496 0
2) |BAT I ERE 1 =® 1,049, 870 1 =® 1,049, 870 0
3) |ty ERfE 1 =® 462, 060 1 =® 462, 060 0
4) |HEI1I=E 1 =® 64, 028 1 =® 67, 864 3,836 @ 1E%g
5) |BEIFAtEE E 1 =® 0 1 =® 100, 760 100, 760 | t&%8
=3 5 2,386, 454 2,491, 050 104,596 | 1&%8
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2) |BEREIE 1 =® 15, 337 1 =® 15, 337 0
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b [N R&ETH =X 66,630 =X 66,630 0
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1 |faEss Bexin L = 3,615,500 = 3,615,500 0
2 |kaKE(E T3 =Y 1,068,370 = 1,117,750 49,380 |H4%E
3 [HEKER R T = 2,883,080 = 2,883,080 0
4 (AR T 9 =Y 117,240 = 117,240 0
5 |fiETEH =Y 431,000 = 431,000 0
EHETEE A5 8,115,190 8,164,570 49,380 | HE%H
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